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TP JTATHR &S (b x d) BT IqG IR &
wid: Sged 3wl ¥
(AIE : Udts 399 AT 31 g1 2 )

(A) bd3/36 (B) bd3/4
©)  bd3/3 (D) bd3/12
AR U

Il g HT WEr F T (FEI-1) HT 37 T&
gfaer (FEt-2) ¥ faam &Y 3 fawedt # @
HE 3T BT T P

AT -1 (3Tt g HY Y -2 (i)
TS & Iue)

(@) Taferesr () 20-30%
(b) AT (i) 50-60%
(€) AT (T13H) (iii) 10%
(d) e 3ifTsS (iv) 5-6%
Terepea
(A)  (@)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
(B)  (a)-(i), (b)-(iii), (c)-(iv), (d)-(i)
(©)  (@)-(iii), (b)-(i), (c)-(iv), (d)-(i)
(D) (a)-(ii), (b)-(1), (c)-(iii), (d)-(iv)
(B) 3raRd e

Pt gty T T RE B #t e W

€T 79T &
(AT 39 W 3 g9 2 )
(c=100 kN/m2, $=0, N =5.7 &)

(A) 740 kN/m? (B) 570 kN/m?2
(©) 5700 kN/m?2 (D) 7400 kN/m?2
(B) 3rIana ued
FrAfiEd § ¥ $iF 7S & oA HS, 0T
i (Fum fE) @& fuar a2
(A) wiwa g (B) Tom 354 RiE
(C) o 3R e (D) IO TEHEA
(B) 3raRd e
2

4.

The moment of inertia of a rectangular section
(b x d) about its base is :

(Note : Symbols denote their usual meanings.)
(A) bd3/36 (B)
© bd/3 (D)

(E) Question not attempted

bd3/4
bd3/12

Match the constituent of good brick earth (list-1)
with their correct percentage (list-2) and select the
correct answer :

List-1 (Constituents of List-2 (Percentage)

good brick earth)
(@) Silica (i) 20-30%
(b) Alumina (if)  50-60%
(c) Lime (iii) 10%
(d) Iron Oxide (iv) 5-6%
Options
() (@)-(0), (b)-(i), (©)-(ii), (d)-(iv)
(B)  (a)-(i), (b)-(iti), (c)-(iv), (d)-(0)
(©)  (@)-(iiD), (b)-(i), (c)-(iv), (d)-(0)
(D) (@)-(i), (b)-(1), ()-(iii), (d)-(iv)
(E) Question not attempted

Net ultimate bearing capacity of strip footing on
clay soil is :

(Symbols denote their usual meaning.)

(Take c=100 kN/m?2, $=0, N.=5.7)

(A) 740 kN/m? (B)
(C©) 5700 kN/m? (D)

570 kN /m?2
7400 kN /m?

(E) Question not attempted

Who among the following was the father of Rana
Sanga (Sangram Singh), the Rajput ruler of
Mewar ?

(A) Mokal Singh (B)
(C©) Rana Amar Singh

Rana Uday Singh
(D) Rana Raimal

(E) Question not attempted



frfeiEd o & $i9 At 7 garg st & g
T FEATT A F 2

TRt ft I | Tt ot &1 o 3

(A) 93 (B)  STerterera
(C) wicifees A (D) FoAT A

(B) 3rgaRd e

=fafad & 9 @i9ar cAD Rrew # 3w
R ST ST B FE=oT 3T JEF ® 2

(A)  ¥F &l (B) U wieT
(© mge u= (D) g&T afd
(B) 3raRd e

TSI B FISTIT HIA B FGITHAT THT 2 :
T T a7 faseat # ¥ W SUGE 3% 94|

(A) TPHS B BIR B & [T
(B) TSI Y HIEM HXA F {oTT
(C) et ¥ W e & fog
(
(

D) el B 7IH FIT F (AT
E) 3aRd 99T

3t Hg A T wdiss (°) & fau faeiw o1 @@
T

(A) %% D (B) %% DIA
(©) % Shift+D D) %% C
(B) 3raRd e
3

Which of the following is a common machine for
sowing operations ?

(A) Puddler

(B) Ultra low volume sprayer
(C) Seed-cum-fertilizer drill
(D) Rotavator

(E) Question not attempted

The indicator of the energy that any biomass
contains is :

(A) Geo-pressure (B) Hydropower
(C) Photovoltaic value (D) Heating value

(E) Question not attempted

Which of the following is not a cursor control
device used in CAD system ?

(A) Thumb wheels (B) Pen plotters
(C) Light pen (D) Tracker ball

(E) Question not attempted

Seasoning of timber is required to :

Choose the most appropriate answer from the
options given below.

(A) Harden the timber
(B) Straighten the timber

(C©) Remove sap from the timber
(D) Soften the timber

(E) Question not attempted

What is the special character for degree symbol (°)
in Auto Cad ?

(A) %%D (B) %% DIA
(C) % Shift+D (D) %% C
(E) Question not attempted

P.T.O.



10. @™ &1 G HiRa w1 F a0 T4 gem 5t
T (R,,) FI TomET ffaiad § 9 e saamT
FTH Bl ST Fhdl & 2
(TET, My, 3T M, AT TR | ARTAS 37T 3iferw
AT E 3 ¢ Yehgd F AT 1)
@ Ra=0RTMO) g 05)
© Ry=CRM) ) Ryt
(B) SrIaRa ued

1. wuReidtst = #t qee d ddia &
(A) = (B) U
(©) =HTErE W (D) uiuwged
(B) 3raRd e

12 gl el o ReR @9g ‘1 9l U W @t
THTET TS T E 2
(A) 21 (B) 1/2
© 12 D) 1
(B) 3raRd e

13.  JRE. §9 F THia e § Mg A
fogpfa faaor (B9 TEiegem) g0 wer o
GI'HT%:
(A) 3MIATHR 3T LIRS
(B) =
(C) AR
(D) WRacATI®
(B) TaRa ueA

14. U RISy 98 BiaT § ST :
(A) 9T Y T UIAl F A g4 H g 2l
(B) T WX TN & & B FUIN TAE H FT H

FT HT B
(C) FTYd EHIM Tastord grar gl
(D) S & = 9T &t Tqg aHSA T e
o gt 2l

(B) 3TaRa ued

&% WA23 4

10.

12.

13.

14.

Moisture removal rate (R,) to determine the
drying time can be calculated using which of the
following ?

(Here, ‘M and ‘M;" are the initial and final
moisture content in the commodity, respectively
and ‘t’ is the time in seconds.)

@) R,=thM) g g (M)
_(Mp—My) R -t
R Y

(E) Question not attempted

Agrostology is related with the study of :
(A) Grasses (B)
(C) Nenatode disease (D) Epiphytes

Animal

(E) Question not attempted

The effective length of a column of length ‘1" fixed
at both ends is :

(A) 21 (B) 1/2
© 12 (D) 1

(E) Question not attempted

In limit state design of R.C. beams, the strain
distribution across the depth is taken as :

A) Rectangular and parabolic
B) Linear

(

(

(C) Rectangular
(D) Parabolic

(

E) Question not attempted

An Artesian aquifer is the one where :

(A) Water is under pressure between two
impervious strata.

(B) Water table serves as upper surface of zone
of saturation.

(C) The aquifer is always unconfined.

(D) Water surface under the ground is at
atmospheric pressure.

(E) Question not attempted



15, S D’ FRAY/AGHE |, U H e A
HleT § 3T R sy ‘B’ e d o A @
BITHT FIT TET 9

8.64B 5.63B
B A=~ ® A=~
A 864D Oy A L98B
B B) A=—5
(B) 3raRd e

16. T ‘P Il ReRPd 19 & 6T, A T IR TH
foIg W P’ TAIT S OX 31Teg R 3MTeol 2
(A) —Pl/4, Pl/a (B) —PI/2, PI/2
(C) —PI/3, PI/3 (D) —PI/8, PI/8
(B) 31 aRd e

17. | Sl B fastell § qIRatad 6T S debdr 2
T T Ty faspeat ¥ W UG 3T gH |
(A) TEEWR a9 HSTT SYTALOT YOTTAT
(B) wicraifee® Hel
(C) TESUHA I-IATT A
(D) ¥-geTd HHTEH
(B) 31 aRd e

18. o & Togia (Lacey’s Theory) F IR, dd
Tl (Bed Slope) TFTaRad I SRT &t AT
T
(Q =T+, f= WS TUTH)

f2/3 f5/3
(*) 3340 Q1/4 ®) 3340 Q'/°
f1/3 f4/3
© 3340 Q%/3 ) 3340 Q'/2
(B) 3raRd e
19. 3 Wed §Har:
(A) THT F WY ISAdT &
(B) TUH % | ST &
(C) THT 3R WA AT & T TGAT &
(D) T®H R HH B
(B) 3raRd e
& WA23 5

15.

16.

17.

18.

19.

The relation between duty ‘D’ in hectares/cumec,
depth of water ‘A’ in metres and base period ‘B’ in
days is given by :

8.64B 5.68B

(A) A==T= (B) A=T=
8.64D 1.98B
AzT (D) AzT

(E) Question not attempted

The fixed end moments for a fixed beam of span
‘I, subjected to a point load ‘P’ at the mid span,
will be :

(A) -—Pl/4,Pl/4 (B)
(© -P1/3,P1/3 (D)
(E) Question not attempted

—Pl/2, Pl/2
—Pl/8, P1/8

Solar energy can be converted to electricity
through :

Choose the most appropriate answer from the
options given below.

A) Ocean thermal energy conversion system

B) Photovoltaic cells

(
(
(C) Hydrothermal geo-pressure resources
(D) Geo pressure resources

(

E) Question not attempted

According to Lacey’s theory, the bed slope is
given by :

(Q=Discharge, f=Silt factor)

fz /3 f5 /3

) 3340 Q1/4 ®) 3340 Q'/°
fl /3 f4 /3

© 3340 Q°/3 ®) 3340 Q1/2

(E) Question not attempted

Infiltration capacity :

(A) Changes with time

(B) Changes with location

(C) Changes with both time and location
(D) Is a constant factor

(E) Question not attempted

P.T.O.



20.

21.

22,

23.

& WA23

@ 40 TRE/Her B T ¥ BR TAT 399
Frafad 10 fe 3 & ggad 2| gt a8 o
FR 50 fRel/der @t Tfq ¥ I@, ar 98 uH
FEET T ¥ 5 e st 9gT S|
IO PRI T F AU fhaw fFare st
T T FEATE 2

(A) 55 (B) 58

(©) 60 (D) 50

(B) 31 aRd e

T TRARAT e WROM #, FHARAT BT T5A6
aqF % 97.50 Ulq €T ¥ aga A F AU
g 1=94.5, fi=x+15, fy=x TAT fy=x+5 &, @l
TEAD IFAUA B HUL HHAT F7 & 2
(A) 1025 (B) 101.5

(©) 98 (D) 99.5

(B) 3raRd e

fefafaa § & &9 91 WA doh-dts-
Aerar fagy @ Fieiar 3R & JTad
FIAT 2 2

(A) THEr FT T P Rufa

B) ST T M 37T MBI

T TEXT F3T

T T a1 fasedt # ¥ W SUGE 3% 94|

(A) Iy PO FI JaAT H 3NTUF TeTams amem
Bl 3l

(B) 3IUW FU B q@AT H IAAATHS & A
FAAN BT &l

(C) EHIM P TP SIAYd BT SiET BT &

(D) EAIM IUA HU &I T § FH TETg AT
Bl 3

(B) 3raRd e

20.

21.

22,

23.

Rekha drives a car at a speed of 40 km/h and
reaches her office 10 minutes late. If she drives her
car at a speed of 50 km/h, she will reach
5 minutes earlier than her office time. What is the
distance (in km) that Rekha covers to reach her
office ?

(A) 55 (B) 58
(© 60 (D) 50
(E) Question not attempted

In a frequency distribution table, modal wage per
hour of workers is ¥ 97.50. For the modal class, if
1=945, fj=x+15, fy=x and f,=x +5, then what is

the upper limit of the modal class ?

101.5
99.5

(A) 1025 (B)
€ 98 (D)

(E) Question not attempted

Which of the following parameters affects the
metering operation of a bulk-seed-metering
device ?

A) Soil moisture conditions

B) Size and shape of seed

(
(
(C) Season of sowing
(D) Depth of sowing
(

E) Question not attempted

A deep well :

Choose the most appropriate answer from the
options given below.

(A) Has more discharge than a shallow well.

(B) Is structurally weaker than a shallow well.

@

Always taps only one aquifer.

E

Always has lesser depth than a shallow well.

(E) Question not attempted



24.

25.

26.

27.

& WA23

Fieetar ars Wia & e & Rge =Aas
TIT HRH 3 YHR foaam STrar 2
(A) 25 (B) 1.5
© 12 (D) 2
(B) SrIaRa ued
qied WA, ST A few arg faw # gt o
(T FE=l T EI W9 2)
(I ; Udlept & 370 T 31 E)
lW
E,IL

ELL E,IL

TITIITT Errrrra
(A) AT SR greHm
(B) aTE AR b
(C) T aT ITE 3T FIHIT
(D) & g
(B) 3raRd e
It 9 Iul & AW H We wfaee e E’
Z 3R T ¥ uRedd ® e ‘c’ &, v
JUTATHT I BT g2 A&7 T+ Ui &1 718 B
(FS : Ui 39 HTATY 31T BT g0 &)

C, C, \
) [ ® (S

3

o (&) D) <
© [Ej O) =
(B) 3raRd e
TP I 3 & AN BN BT T 3
(n = ST FHY R H =)
(A) (2n-3)x90° (B) (n—2)x90°
(C) (2n+4)x90° (D) (2n—4)x90°
(B) 3raRd e

24.

25.

26.

27.

The minimum factor of safety against sliding of
cantilever retaining wall is taken as :

(A) 25 (B) 1.5
© 12 (D) 2
(E) Question not attempted

The portal frame, as shown in the figure below,
will (all members have the same EI) :

(Note : Symbols have their usual meanings.)
l W

E,IL

ELL E,lL

A) sway towards left
B) sway towards right

(
(
(C) sway either towards the left or the right
(D) not sway

(

E) Question not attempted

If allowable percentage error in the estimate of
basic rainfall is ‘E’ and coefficient of variation of
rainfall is ‘C,/, then the optimum number of rain

gauges is given by :
(Note : Symbols denote their usual meanings.)

W = ®) [C—ij

3
o (f

(E) Question not attempted

0 =

The sum of internal angles of a closed Traverse is :
(n=No. of sides of the Traverse)

(A) (2n—3)x90° (B) (n—2)x90°
(C) (2n+4)x90° (D) (2n—4)x90°
(E) Question not attempted
P.T.O.



28.

(A) 34°20° 20" (B) 32°20°20”
(C) 32°00 20" (D) 36°21’ 00"
(B) SrIaRa ued
2 frfata # 9 F W S ®aTs AT B
TEe BT THTTIT & FIAT & 2
T fau T oot # ¥ GO SR IR oA |
(A) e AT S 3 (T
(B) T Bl SIS
(C) eTE BT B
(D) wHA Bt FEH
(B) T aRa g
0 Gt fafr & Freafated wrERt w REwR
?ﬁ:
(S : FeABl & 31+ T 37 2 2 )
(a) HIOHT AT IRGH AT Ht T A AUF
HEF B 2
(b) HIONT AT FHI JoT H Yad w9 afuw
TEF B 2l
() YE® AT # AT W@ B/ ARE & A
&% FATATA! BN 2|
(d) TRT T 9&7 & 3TAieT (L) T 3787 (D) H
ﬁ%ﬁW=L(WD)ﬁ@§%X%Em
TTH B AT HIT TH 2 2
(A) (a), (b) 3R (c)  (B) (b), (c) 3 (d)
©  (c) 3T (d) (D) (a) 3T (d)
(B) 3raRd e
%% WA23 8

TH YT P qATas [GM 34° 207 407 T dAT
AR Bt AT TR JTAHA WA RGBT
FIHTT 2°00° 207 W | T&T & daeprar fgem &

28.

29.

30.

The true bearing of a line is 34° 20" 40” and the
magnetic declination at the place of observation is
2° 00" 20" W on the date of observation. The
magnetic bearing of the line is :

(A) 34°20" 207 (B) 32°20" 20”7
(©) 32°00" 207 (D) 36°21" 007

(E) Question not attempted

Which of the following factors does not affect the
performance of harvesting machines ?

Choose the most appropriate answer from the
options given below.

(A) Cutting blade and speed
(B) Height of cut

(C) Area to be harvested

(D) Crop variety

(E) Question not attempted

Consider the following set of assumptions of the
Bowditch method :

(Note : Symbols have their usual meanings.)

(@) Angular measurements are more precise
than linear measurements.

(b) Linear measurements are more precise than
angular measurements.

(c) Error in linear measurements is proportional
to the square root of the length of the line.

(d) Correction to Latitude (L) or Departure (D)
of any side=
(length of that side)

Total error in L (or D) X——
(perimeter of traverse)

Which of these statements are correct ?

(A)  (a), (b) and (c) (B)  (b), (c) and (d)

(©) (c)and (d) (D) (a)and (d)

(E) Question not attempted



3. fqHfarEd RORT-g@ = yorelt &% f@T $ua @t
TTpTTh g &N :
(e : wdtd 37 T 37 et E)
F—
k
"WW— m
oRox
(A) k/m rad/s (B)  Jm/k rad/s
©)  Jkm rad/s (D) \/k/_m rad/s
(B) TaRa ueA
32. gig UH EEFAMTDA THTS BT GI%he 0.1 3
(STE PR ST, AW &
®T H WPpd HIT ST A1ETI
(A) IT-FJcwreer g (B) ARWIS
(C) IU-TEILS (D) STeTrgor &
(B) 3rgaia wed
33. faeffad & ¥ w9 O fafr @ uged g@m
BT TG E 2
(A) Fagd yeh (B) Tafepeor I
(©) ST (D) =TT hA
(B) 3raRd e
34.  QOWItHE FST BNH FHHIT (USLE) HT I
a2
(A) TT=T 3T e
(B) 3 3N i<
(© #f
(D) foremfior 3R Rey
(B) 3raRd e
35. uRg doiE "W ¥ faU Iumnr fRU S e
HIC BT FATH IS 2
(A) M30 (B) M40
© M50 (D) M20
(B) 3raRd e
% WA23 9

31.

32.

33.

34.

35.

For the following spring-mass system, the natural
frequency of vibration will be :

(Note : Symbols denote their usual meanings.)

k i

"MWW— m
momon

(A) k/m rad/s (B) Jm/k rad/s
© \/larad/s (D) Jk/m rad/s

(E) Question not attempted

If a hydrologic unit is having an area between
0.1 and 0.5 lakh hectares, it should be classified as

(A) Sub-catchment (B) Watershed
(C) Sub-watershed (D) Catchment
(E) Question not attempted

Which one of the following is not a method of
food drying ?

(A) Convection drying (B)
(C) Boiling (D)

Radjiation drying
Conduction drying
(E) Question not attempted

Who suggested the universal soil loss equation
(USLE) ?

(A) Lindsay and Norvell

(B) Arnon and Stont

(G Manning

(D) Wischmeier and Smith

(E) Question not attempted

The minimum grade of concrete used for post
tensioned member is :

(A) M30 (B) M40
(C) M50 (D) M20

(E) Question not attempted

P.T.O.
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T8 THY T SR Tt T widrater &r 3 et
AT 3T IR ATt B g fFT T
focitaa feam ST Har 2, 3 3@ AW ¥ AT
ST E

(A)  H A (B)
(C) gieuse e
(B) 3raRd e

FTHIT TS
(D) Ticd FAle

qTeq gaTE H Afaiad § ¥ 69 "eAT $ gl
T BE AT & ?

(A) T F AR-EY 99 B9 F BROT IIET TS
H IATT BT AT

(B) AHNIHE TEATT HT TG1

(C) TTET yaTE ¥ A

(D) T & UIgT & qed & AT IF B b
HROT UG H IMEEF (5

(B) 3raRd e

A5 YU T HES MBI (AR et 7 B) 3

(A) 297 x420 (B) 210x297

(©) 148x210

(B) 3raRd e

(D)  420x594

HEROT 0TI & T 2
(A) MOL2T-!

© faméE

(B) 3rIana e

(B) mMOL3T2

(D) moLIT-!

36.

37.

38.

39.
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The time by which a particular activity can be
delayed without affecting the preceding and
succeeding activities is known as :

(A) Free float (B) Interfering float

(C) Independent float (D) Total float

(E) Question not attempted

Which one of the following phenomenon in a pipe
flow is termed as Water Hammer ?

A) The rise of pressure in a pipe flow due to
p p1p
gradual closure of valve

(B) The rise of negative pressure
(C) Zero pressure in a pipe flow

(D) The sudden rise of pressure in a long pipe
due to the sudden closure of valve

(E) Question not attempted

Standard size of A5 paper is (dimensions are in
mm) :

(A) 297 x420 (B) 210x297

(C) 148x210 (D) 420 x 59

(E) Question not attempted

The dimensions of storage coefficient is :
( A) MO 271 (B) MOL3T-2
(C) Dimensionless (D) MOLIT-1

(E) Question not attempted
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43.
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WA FT ol HIg07 T2 e T & Rua
g9

(A) SRR (B) € feeeit
©) =g (D) wraTer
(B) 3raRd e

WAt &=t # zar ¥ e B UBA B AU
fFaml g AlarEd § ¥ i 9 deAie
TF §F A AGATS AT & 2

T T Ty faspeat ¥ W UG 3T gH |
(A) e FTEET (B) I
© wr (D) T &

(B) 3rgaRd e

PARAM 10000 Feex TFae Fate 2 2

(A)  FeX B qradt dier

(B) Fwex it tedt digt

(©) P o et digt

(D) HoET H g dI

(B) 3rgana ued

frfafaa # 9 sAar SR M 2-SF g
Hi 3-2f AleA H TG TH & ?

(A) =r=By (B)
© fem (D)

Ratea
ftheie

40.

41.

42,

43.
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In which city is the Indian Institute of Soil Water
Conservation situated ?

(A) Jaipur (B) New Delhi

(C©) Dehradun (D) Bhopal

(E) Question not attempted

Which of the following technique is widely
adopted by farmers to prevent wind erosion in
desert areas ?

Choose the most appropriate answer from the
options given below.

(A) Gabion structure (B) Gradoni

(©) Spurs (D) Kana bandi

(E) Question not attempted

PARAM 10000 computer belongs to the :
(A) Fifth Generation of computers

(B) Fourth Generation of computers
(C) Third Generation of computers
(D) Second Generation of computers

(E) Question not attempted

Which one of the following commands allows you
to change a 2-D drawing into a 3-D model ?

(A) Chamfer (B) Revolve

(G Trim (D) Fillet

(E) Question not attempted

P.T.O.
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(B) 31 aRd e
45. oW ‘¢’ F B AR & I_A H T T 90°
(A) 44 B) 8¢
© 166 D) 24
(B) 3raRd e
46.  gg= fereior T AT A ¥
T T Ty faspeat ¥ W UG 3T gH |
(A) (B) &
(©) AN qH (D) st
(B) 3raRd e
47.  garew @t % fau Fefatea § @ s9 @
FIT &N 7B & 2
(A) TH=T FAE HaTg & g1 B WA qrer
T HIeTTH & &l
(B) g TMH dT¢! THITT @0 WSl AT Bl
ZeTrT ¥l
(C) TUH dchdl dg & HATHA | HH<I 1@
T T BT B Tha! 2|
(D) 3 3I=9 ¥ Tt de FHET @MU TH
i femrdr El
(B) 3raRd e
& WA23
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45.

46.
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Consider the following statement and its possible
answers :

Statement : In surveying operations, the word

“reciprocal” can be associated with :

(@ Ranging (b) Levelling (c) Contouring

Choose the correct set of answers for the above
statement from the options provided below :

(A) (a)and (b) (B)  (b)and (c)
(©)  (a), (b)and () (D) () only
(E) Question not attempted

Anchorage value of 90° bend provided at the end
of reinforcement bar of diameter ‘¢’ will be :

(A) 4 B 84
© 166 D) 24

(E) Question not attempted

The main source of formation of wind is :

Choose the most appropriate answer from the
options given below.

(A) Vegetation (B) Sun

(C) Uneven land (D) Rain

(E) Question not attempted

Which one of the following statements is not
correct for contours ?

(A) Contour is an imaginary line joining points
of equal elevation.

(B) Closed spaced contours indicate steep slope.
(C) Contour lines can cross each other in case of
an overhanging cliff.

(D) Closed contour lines with higher values
inside show a lake.

(E) Question not attempted



¥ @ v -afen g fwT @ ufedt & A48,
A STHE 9¥ SR J9T T B, af el &
T BT THIT % WA F THRIA T
g 2l
(A) 50 ®) 70
© 80 (D) 30
(B) 31 aRd e
B 1 gEkr w7 F g & TqE B eI F|49.
g IR I & B P AT B G TR &
(FC : Uil & 379 | 31 2 )
A) Ig ®B) Ig
A AX
©  Ax D) Ig
Ig X
(B) 31 aRd e
50.  aufea Wit fafeeor & weerer st @hE|50.
fafepzor (dru.am.) T wlqema = & 2
(A) 50% H HH (B) FHaAAT 60%
(C) 80% T 3TIH (D) FHaeT 70%
(B) 3raRd e
5L wepr, a3l waell & frq o e # i |51
o fafer w1 3o fpaT ST whaT & 2
T T Ty foedt # ¥ 9w SUGE 3R I |
(A) =% wAreT fafer
(B) I T ferter
(C) ¥ wAfST fafr
(D) wTET geAteT fafer
(B) 3raRd e
& WA23 13

When a two-wheel drive tractor is sitting idle with
all wheels on level ground, approximately
% of the tractor weight resides on the

front axle.
(A) 50 (B) 70
(C) 80 (D) 30

(E) Question not attempted

The distance between the centre of gravity and
centre of pressure of a vertically immersed surface
isequal to:

(Note : Symbols have their usual meanings.)

A Ig B Ic
A Ax

© Ax D) Ig
Ig *

(E) Question not attempted

What is the percentage of photosynthetically
active radiation (PAR) in the incident solar
radiation ?

(A) Less than50% (B) 60% only

(C) Greater than80% (D) 70% only

(E) Question not attempted

Which one of the following methods of applying
water may be used for crops like maize, potatoes
etc. ?

Choose the most appropriate answer from the
options given below.

(A) Check flooding method
(B) Furrow flooding method
(C) Free flooding method
(D) Border flooding method

(E) Question not attempted

P.T.O.
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g 5¢—5Y = 11 qUT 55+y =7, AT (XY +5/%)
CARCIC IS
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(B) 3raRa ued

115/7
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(B) 3raRd e
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A HT SId S0 O¥ MR & ;
(A) T FIHOT BT TAIH

(B) T WO HT A
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¥ 3 & Thd & g THY T&d 9dT I SY 377
3taa 3T fpaT S|

(A) gEHMEEREE  (B)
(C) TSI
(B) 3raRd e

FUeElew-ar
(D) T=RET

52.

53.

54.

55.

14

If 5*—5Y = 11 and 5*+Y =7, then (5* ¥ +5Y~7) is
equal to:

(A) 135/7 (B) 121/14
() 135/14 (D) 115/7

(E) Question not attempted

According to the Economic Review of Rajasthan
(2024-25) as per the advance estimates, the Per
Capita Income at current prices (in Rajasthan) for
the year 2024-25 is estimated to be :

(A) T1,85,053 (B) ¥1,95,053

(C) ¥1,98,053 (D) 1,66,647

(E) Question not attempted

The principle of continuity is based on :
(A) Law of conservation of momentum
(B) Law of conservation of mass

(C) Law of conservation of velocity

(D) Law of conservation of energy

(E) Question not attempted

Except all diseases mentioned below
are completely curable if detected early and
treated properly.

(A) Trichomoniasis (B) Hepatitis-B

(C) Chlamydiasis (D) Gonorrhoea

(E) Question not attempted
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2 A W A hicellay S @7 STIHaR
fa&9or, STt 9¥ ¥9 # 8 kN/m % I EL.TA (UDL)
% I B, BN

(E1=2 x 105 N-m2 o)

(A) 400 Tt (B) 40 Tt

(©) 800 fit (D) 80 T

(B) 3raRd e

frfaiaa & ¥ Hi J7 FUF TG & 2

(A) A (L) WS 9 WS gid & S 9= $h
TTT & fT7 SR B 2

(B) M WIS TN YHKR & & &l

(C) ¥R HEH ULCH TF IqUiqE =T Hd
SEd & o9 ATgSe FET A1 2l
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TH () T 3 FH|

(B) 3rgaRd e

g 25°C W U0 # ToeE Sewdar 250 9
750 pU/cm (FTEH-FET /AAY) F d T T, 4t 3H
T YR (pha AT ST & :

(A) T AGOTAT ITAT I

B) 3=d eaurar atdT qT=t

C) g AU AGOTAT AT AT

D) ¥ @GorAr 9TdAT 9T

E) 3rqaRa ued

IfTF WX U, Y 40T deedr B Rufa #
AHTHA qAd TaH e (THILST.) Fhad &
HemH | FRET ST B

(A) 15.2.8 (B)
©) 1545 (D)

(B) 3raRd e

739 WlORMT G T WRA SiaenT #
I HT ST ST T 2

(A) 114t (B) odt

(© 154 (D) 6
(B) 3raRd e

(
(
(
(

15.3.1
15.1.7

56.

57.

58.

59.

60.
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The maximum deflection of a 2 m span cantilever
beam, subjected to UDL of 8 kN/m throughout
the span, will be :

(Take EI=2 % 10° N-m?2)

(A) 400 mm (B) 40 mm
(©) 800 mm (D) 80mm
(E) Question not attempted

Which of the following statements is false ?

(A) Serum (whey) proteins are the proteins
responsible for the structure of cheeses.

(B) There are four types of casein proteins.

(C) The four casein proteins associate in a
quaternary structure known as micelle.

(D) Milk contains two general categories of
proteins serum (whey) proteins and
caseins.

(E) Question not attempted

If the electrical conductivity of water is in between
250 to 750 pU/cm (micro-mho/cm) at 25°C, then
it is classified as :

A) Medium salinity water

=

High salinity water

@

Very high salinity water

S

Low salinity water

(
(
(
(
(E) Question not attempted

Globally, the state of land degradation neutrality
is  evaluated  through the  Sustainable
Development Goals (SDG) indicator :

(A) 1528 (B) 15.3.1

(C) 1545 (D) 1517

(E) Question not attempted

Which Schedule was added to the Indian

Constitution by  the 731d  Constitutional
Amendment ?

(A) 11th (B) oth

(C) 15t (D) eth

(E) Question not attempted

P.T.O.
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© Pufirs 0 Faeiis
(B) SraRa ued
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HAT TR I IO S b WY AT AT
FATE ?
(A) FiwETET (B) @
(C) TawE (D) gaTwTe
(B) 3raRd e

63. GPS ZWT TRt wfaehial o & Rufq &1 wcr®
faRor F9 F AU Taas SuUEl B A
T T
(A) 2 (B) 3
€ 4 DO 1
(B) 3raRd e

64. g FT 98 W fywdr Froomd e gy F oA
180° ST &, I Fad & :
(A) TR (B) aTeiga
(C) AR emm (D) =E
(B) 3raRd e

65. TUF UEUE Hgd WARET giae  (@Fdw) #
frfafad & ¥ #1997 9P 7@ AT 22
(A) HHRT IR
(B) fasparet fewet gfe (d2 )
(C) 3rdfes AfT® I+e (TIAT,)
(D) g gfTe
(B) 3raRd e
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Maximum Lateral Pressure (P,,,,) on the walls of
a silo/bin (depth of grain in silo z — a), where py,
is the bulk density of material in natural state, D is
the internal diameter of silo and ¢ is the angle of
friction between grain and bin walls, can be
depicted by which of the following ?

$D D
Prax = Prax=—""
(A) max 4 tanpy, (B) max b 4tand
_PpoD __PD
© Pmax = 4tan ¢ (D) Pmax = 4tan ¢

(E) Question not attempted

Which of the following regions of Rajasthan
shares boundaries with both Madhya Pradesh and
Gujarat ?

(A) Banswara (B)
(C) Sirohi (D)

Jhalawar
Pratapgarh
(E) Question not attempted

The minimum number of satellites needed for a
GPS to determine the position of a moving object
precisely is :

(A) 2 B) 3

© 4 D) 1

(E) Question not attempted

The part of the circle with radii making 180° with
each other is called :

(A) Quadrant (B)
(C) Internal thread (D)

Semi-circle
Segment

(E) Question not attempted

A typical Central Processing Unit (CPU) does not
have which one of the following components ?

(A) Memory Registers

(B) Visual Display Unit (VDU)
(©) Arithmetic Logic Unit (ALU)
(D) Control Unit (CU)

(E) Question not attempted
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(A) FUI AT FAT

B) fororett St ®ien

C) T gt ®iAT

D) Fudl Smaf HiET

E) 3raRa ued

frfefaa fafafrat o foem &%
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(

(
(
(
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o) helc B TR
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©  (a)-(c)-(b)~(d) (D)  (a)-(b)~(c)-(d)
(B) 3rgaRd e
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O) 3T Wd 79
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E) 3ranRa w9
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(A) ST TR FTE
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(
(

(
(
(
(

g

) ATSS BT BT
E) 3aid ued

TH AT R R ReRgpd I #, g O 2
(A) | T W

(B) AfquRadt fag & 9=

(C) =TS W W

(D) (I %) WER X

(B) 3raRd e
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66.

67.

68.

69.

70.

Where can you find Quick access toolbar, in the
MS Word-2013 interface window ?

(A) Top right corner

(B) Bottom Left corner

(C) Bottom right corner

(D) Top Left corner

(E) Question not attempted

Consider the following activities :
(@)  Pouring of concrete

(b)  Erection of formwork

(c)  Curing of concrete

(d) Removal of formwork

What is the correct sequence on a network of
these activities ?

(A) (b)-(a)-(d)-(0) (B)  (b)-(a)-(c)-(d)
(©)  (@)-(9)-(b)-(d) (D) (a)-(b)-(c)-(d)

(E) Question not attempted

Which of the following scaffolding type is also
termed as “mason’s scaffolding” ?

A) Double scaffolding
B

~

Trestle scaffolding

e

Brick layer scaffolding

xS

(
(
(
( Single scaffolding
(

E) Question not attempted

What does “BCC” in an email message stand for ?
(A) Blind Communication Carbon

(B) Blind Common Copy

(C) Base Carbon Copy

(D) Blind Carbon Copy

(E) Question not attempted

In a beam fixed at both ends, the slope is zero :
(A) Atmid span

(B) Near the point of inflection

(©) At quarter span

(D) At the supports

(E) Question not attempted

P.T.O.
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=

TfEHe FHoAT ‘M Text’ BT TR 4T § 2

(A) TR o ST (B) Wl TRT

Q) T (D) e LM BT
(B) 3raRd e
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© u= (D) ¥

(B) 3raRd e
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(A) 1:10 (B) 1:50
(© 1:400 (D)
(

E) 3ranRd ued

1:200
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Saurav deposited ¥ 5000 each on 1% January and
15t July 2024 in a bank which offered 8% per
annum compound interest, compounded half-
yearly. The interest received by Saurav at the end

of 2024 was :
(A) 608 (B) R 568
(©) X618 (D) X508

(E) Question not attempted

What is the primary function of the disc plough in
agricultural operations ?

Choose the most appropriate answer from the
options given below.

(A) To compact the loosen soil

(B) To prepare seedbeds by turning over and
breaking the soil

(C©) Toirrigate fields
(D) To seed and fertilize the soil

(E) Question not attempted

What is the use of the shortcut key ‘M Text’ ?
(A) Move Text (B) Multi Text
(C©) Menu Text (D) Modify Text

(E) Question not attempted

At which of the following level, formatting of a

word document cannot be done in
MS Word-2013 ?

(A) Register (B) Paragraph

(C) Page (D) Character

(E) Question not attempted

In Engineers scale, the designation M5 indicates
the scales :

(A) 1:10 (B) 1:50
(C) 1:400 (D) 1:200

(E) Question not attempted
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(D) YT RS (Wrap text)
(B) 3raRd e
77.  WRA % JAUE B WRAmEAT H O"EH" TE B
?l'l?cl?ff %:
9 faw v fasedt # A W9 GRS I I |
(A) HRIT THR
(B) WHRa F oI
(C) wai=a =TT
(D) WRAT T9g
(B) 3rgaia ued
78. 3NN ¥ HHE Wiaed TIAT TeIor HT
AT FAT I 8
(A) 25 (B) 4.0
© 45 (D) 2.0
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In a spreadsheet, if the entire text is to be
displayed in a single cell, the option
should be clicked.

(A) Bold text

(B) Style border

(C©) Underline text

(D) Wrap text

(E) Question not attempted

The term “we” in the Preamble of the Constitution
of India refers to :

Choose the most appropriate answer from the
options given below.

A) Indian Government

(

(B) The People of India
(C©) Supreme Court

(D) Indian Parliament

(

E) Question not attempted

Compactive energy ratio of modified to standard
Proctor compaction test is :

(A) 25 (B) 4.0
(C) 45 (D) 20
(E) Question not attempted

Which of the following steel sections should
preferably be used at places where torsion occurs :

(A) Channel section  (B) Box section
(C) T-section (D)

(E) Question not attempted

Angle section

Which of the following is not a short term surface
run-off harvesting technique ?

(A) “V’ditches (B)
(C) Field bunds
(E) Question not attempted

Anicuts

(D) Contour trenches

The Bernoulli’s equation is applicable to :
(A) Inviscid and compressible fluid flow
(B) Inviscid and incompressible fluid flow
(C) Viscous and incompressible fluid flow
(D) Viscous and compressible fluid flow

(E) Question not attempted

P.T.O.
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Loss of head due to sudden enlargement is given
by :

(Note - Symbols have their usual meanings.)

(A) (Ul 02 )2 (B) (vlz _022 )
28 2g
2 2
(UZ -0 ) UV1—0y
© B o Ty

(E) Question not attempted

The defect of colour blindness occurs due to a
mutation in genes present on  which
chromosome ?

(A) Y Chromosome only

(B) Chromosome 21

(C©) Chromosome 11

(D) X Chromosome only

(E) Question not attempted

Which of the following forts was built by Sawai
Jai Singh II to safeguard Jaipur from the Maratha
incursions ?

(A) Amber Fort (B)
(C) Jaigarh Fort (D)

Nahargarh Fort
Mehrangarh Fort

(E) Question not attempted

Which of the following is not an artificial
sweetener ?

(A) Aspartame (B) Seldane

(©) Sucralose (D) Alitame

(E) Question not attempted

Torsional rigidity of a shaft is given by
(if G=modulus of rigidity and J=Polar moment
of inertia of shaft)

(A) GJ B) G2
© & (D) G/)
(E) Question not attempted
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The sum of internal angle of hexagon is :

(A) 540° (B) 660°

(C) 720° (D) 900°

(E) Question not attempted

If ‘d” is the depth of the aquifer through which
water is flowing, then the relationship between
permeability ‘K’ and transmissibility “T” is given
by :

() K ) T=JKd
d
© K=JTd (D) T=-Kd

(E) Question not attempted

For a fully saturated soil, having water content as
0.5 and specific gravity of soil solids as 2.6, the
void ratio is :

(A) 52 (B) 3.1
© 21 (D) 13

(E) Question not attempted

The main reinforcement of an R.C. one way slab
consists of 10 mm bars @ 100 mm c/c. If it is
decided to replace the 10 mm bars by 12 mm bars,
then the spacing of 12 mm bars will be :

(A) 72mm (B) 140 mm

(©) 144 mm (D) 120 mm

(E) Question not attempted

Which of the following is not a factor considered
for the design of a tube well ?

(A) Selection of strata to be screened
(B) Discharge collection tank
(C) Type of pumping unit
(D) Location of well
(E) Question not attempted
P.T.O.
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What is the name of the soil erosion process by
water, where a thin layer of soil from large areas
are removed uniformly during every rain event,
and can be detected by the muddy colour of
run-off arising from the field ?

(A) Rill erosion (B) Sheet erosion

(C) Slip erosion (D) Gully erosion

(E) Question not attempted

Which of the following statements is/are correct ?

(@) Quick sand is a special variety of sand.

(b) Quick sand is not a material but a hydraulic
condition.

(¢) In nature, quick sand condition is usually
observed in coarse silt or fine sand.

Choose the correct answer from the options

provided :

(A) (a)and (b) (B)
(©) (a)and () (D)
(E) Question not attempted

(b) and (c)
(@), (b) and (c)

“Mando Ki Pal” Kahila in Dungarpur region of
Rajasthan is associated with which of the
following deposits ?

(A) Dolomite (B)
(C©) Emerald (D)

(E) Question not attempted

Fluorite

Gypsum

Which of the following is not a category in the
inbox, categorising the received mail ?

(A) Secondary (B)
(C) Promotions (D)
(E) Question not attempted

Social

Primary

At the free end of a cantilever beam subjected to
UDL:

(A) Slope and deflection are minimum.

(B) Slope and deflection are maximum.

(C) Slope is

maximum.

minimum and deflection is

(D) Slope and deflection are zero.

(E) Question not attempted
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97.

98.

99.

100.

101.

A slab of 2 m X 3 m size is simply supported at the
2 m parallel edges only. The slab will be analyzed
as:

(A) Two way slab
(B)

Cantilever slab with cantilever span as 2 m

Cantilever slab with cantilever span as 3 m

One way slab
(E) Question not attempted

Lining of irrigation channels :
(A)
(B)
©

Decreases the waterlogging area
Does not change the waterlogging area

Rapidly increases and decreases the

waterlogging area with time
(D)
(E)

Increases the waterlogging area

Question not attempted

The partial safety factors for material strength of
concrete and steel are respectively taken as :

(A) 1.5and 2.0 (B) 20and 1.5
(©) 1.15and 1.5 (D) 1.5and1.15
(E) Question not attempted

Average vertical stress at any stage of loading
under unconfined compression can be calculated
(given P - Load; € - Axial strain; A - Initial cross-

sectional area) using :

A e B P
@) ®
O i ® -9
(E) Question not attempted

For carrying out bituminous patch-work during
the rainy season, the most suitable binder is :

(A) Hot bitumen
(B)
©
(D)

(E)

Cut back bitumen
Bituminous emulsion
Road tar

Question not attempted

P.T.O.
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102.

103.

104.

105.

Smaller size of aggregate in a concrete mix :
(A)
(B)

Is economical

Requires less cement for a particular water-
cement ratio, hence economical

(C©) Improves the workability and reduces the

cement demand, hence economical

Provides larger surface area for bonding
with mortar matrix, which increases the
compressive strength and reduces the stress
concentration at the mortar-aggregate
interface

(E)

Question not attempted

‘Tanka” is a common technique for which of the
following ?

Choose the most appropriate answer from the
options given below.

(A) Surface run-off harvesting
(B) Roof-rainwater harvesting
(C) Energy water harvesting
(D) Floodwater harvesting

(

E) Question not attempted

Inclination of failure plane of a soil sample under
triaxial loading is :

(Note : Symbols denote their usual meanings.)

(A) 45+ ¢/2 with the minor principal plane
(B) 90+ ¢/2 with the major principal plane
(©) 90+ ¢/2 with the minor principal plane
(D) 45+ ¢/ 2 with the major principal plane
(B)

Question not attempted

Which of the following is equal to 0.2+0.08 ?
(A) (B)
© (D)
(E)

0.30
0.28

0.31
0.28

Question not attempted



106.

107.

108.

& WA23

ffafEa § ¥ AT SoEei—e B9 o+
FLATARA BT HT WTL/AINEBT e & 2

(A) (B)

(D) NEFT

UPI IFSC

(©) 1™MPS

IART T

Y & F AR S & U g o @i
g, ffeiad JfeT g @t 7

6020.6, 6120.2; Po= 10 kN/mz,

A FAH® (Ce) 7

p; =100 kN/m?

(A) 020 (B)

(D)

0.004

© 0.04

AN T

0.40

-1 (ITHIT) Bl FI-2 (I1) F A GATAT
¥ 3R A fw U fewedt § ¥ TE IR G
-1 (Fwaron) -2 (353)
(a) @Ak (i) e H
FTafear
FIAHR FA F (i) T B Ao
Ty e e

(©) -TF (Vee-Bee) (il) HiHS &I a= rferT

Terhe aRteToT |LT (iv) xﬁﬁea%aqﬁw

~ N
— — /Q-J\ —
~ ~— ~ ~—
/\ — ~ —
(=)
-~
o
~
1 /'\ 1
<
-~
—~
(@)
~
~
(=
(=3
-~
Q.
\_/ ~ ~ =
/-\ — ~ —~
(=
=y
=4
~

—_ N N N~
g 0
S~— =

25

106.

107.

108.

Which of the following is not a means/way of
transferring money electronically ?

(A) UPI (B) IFSC
(©) IMPS (D) NEFT
(E) Question not attempted

The following readings were obtained from e-log
p plot, for a normally consolidated clay :

eg=0.6, e;=0.2; py=10 kN/m?, p; =100 kN/m?

The compression index (Cc) is :

(A) 0.20 (B) 0.004
(C©) 0.04 (D) 0.40
(E) Question not attempted

Match list-1 (Apparatus) with list-2 (Purpose) and
select the correct answer from the options below :

List-1 (Apparatus) List-2 (Purpose)

(@) Le-chatelier (i) Workability of
concrete
(b) Vicat Needle with (ii) Soundness of

annular collar cement

(c) Vee-Bee (iif) Tensile strength of
cement

(d) Briquettes Test (iv) Final setting of
Machine cement

Options :

(A)  (@)-(i), (b)-(iv), (c)-(1), (d)-(ii)

(B)  (@)-(), (b)-(iv), (¢)-(ii), (d)-(ii)

(©)  (@)-(i), (b)-(iti), (¢)-(1), (d)-(iv)

(D) (@)-(1), (b)-(iid), (c)-(ii), (d)-(iv)

(E) Question not attempted

P.T.O.
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109.

Assuming the individual layers of soil to be
isotropic and homogenous in nature, what is the
equivalent coefficient of permeability in the
direction of flow for the given arrangement ?
(Here, Ky, K,, Kj are coefficients of permeability
of soil layers of thickness H;, H,, Hj)

A) Ki+K,+K3
(B) H

Hy  Hp Hs

Ki Ko Kz
(©) (K +Ky+Kg)x (Hy +Hy+ Hy)
(D) K;H;+K;H;+K3Hj

H

(E) Question not attempted

Which of the following type of lenses is used to
correct astigmatism ?

(A) Concave lens (B) Cylindrical lens
(C) Bifocal lenses (D) Convex lens
(E) Question not attempted

Which of the following is an exotic cattle breed ?

Choose the most appropriate answer from the
options given below.

(A) Red Sindhi (B) Ayrshire
(C©) Tharparkar (D) Sahiwal
(E) Question not attempted
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112.

113.

114.

115.

116.

Which of the following is not an excavating and
moving equipment ?
Choose the most appropriate answer from the
options given below.

(A) Clamshell (B)

(D) Bulldozer

Scraper
(C©) Dump truck
(E)

Question not attempted

The water utilizable by plants is available in soil
mainly in the form of :

(A) Capillary water (B) Hydroscopic water
(C) Chemical water (D) Gravity water
(E) Question not attempted

With reference to the computer terminology the
full form of “NAS “ is :

A) New Access Stream

B) Natural Adaptable String
Native Advanced Suit

D) Network Attached Storage

E) Question not attempted

From the grain size distribution curve of a soil
(sand) sample, Dgy=3 mm, D;,=15 mm and

D;p=0.1 mm. The sand sample can be classified
as:

Poorly graded
Highly well-graded

Can not be determined with the available
data

Well graded

Question not attempted

The plotting of inaccessible points in a plane table
survey can be done by the method of :

(B)
(D)

(A) Radiation Intersection

(©) Traversing
(E)

Interpolation

Question not attempted

P.T.O.
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117.

118.

119.

120.

What is the full-form of IMD ?
Choose the most appropriate answer from the
options given below.

(A) India Meteorological Department
(B)
©
(D)
(E)

India Meteorology Department
Indian Meteorological Division
Indigenous Meteorological Department

Question not attempted

If 'f’ is the friction factor, then the Chezy’s
coefficient (c) is proportional to :

& JF ®)

© 1

N

Question not attempted

1
f
O f

(E)

Which type of pencil is the softest among the
following (commonly used in engineering
drawing) ?

Choose the most appropriate answer from the
options given below.

(A) 2B (B) 6H
(C) 4H (D) B
(E) Question not attempted

Which amongst the following is correct ?
(A) Surface Aggregation Ratio =

total surface area of particles>0.01mm

aggregated (silt+clay)
(B)

Surface Aggregation Ratio =
total surface area of particles>0.05mm

aggregated (silt —clay)
©)

Surface Aggregation Ratio =
total surface area of particles>0.01mm

aggregated (silt —clay)

(D) Surface Aggregation Ratio =

total surface area of particles>0.05mm

aggregated (silt +clay)
(E)

Question not attempted
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121.

122.

123.

124.

125.

A solid circular shaft of 200 mm diameter is
subjected to 22 kN-m torque. The maximum shear
stress developed in the shaft will be :

(A) 140 x10°N/m?
(C©) 28x10°N/m?
(E)

(B)
(D)

7 %100 N/m?
14 X 10° N/m?2

Question not attempted

A weir is said to be narrow-crested if its crest
width is less than :

Half the height of water
Half the length of weir
Length of the weir
Height of water

Question not attempted

The flow of water in a wash-basin, when it is
being emptied through a central opening, is an
example of :

(A) Forced vortex Rotational vortex

(©)
(E)

(B)

Rankine vortex (D) Free vortex

Question not attempted

For a slab-floor system (cast monolithically), the
effective width of intermediate T-beam is
determined by :

(Note : Symbols denote their usual meaning.)

I l

(A) %+bw+6Df (B) %+bw+6Df
o o

(@) g+bw+3Df (D) E+bw+3Df

(E)

Question not attempted

Two springs of stiffness 3 N/mm and 5 N/mm
are joined parallel to each other. The equivalent
stiffness of the system is :

15

@ (F)vmm @

8 N/mm
(@) (%j N/mm

(E)

(D)

Question not attempted

15 N/mm

P.T.O.
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AT AT F 9
(A) wrEsT (B) et
(© AT (D) et
(B) 3raRd e
130 M30 95 % wwic & U rfueaw  sEEqor
PIGECH (Temax) z:
(A) 3.5 N/mm? (B) 3.1 N/mm?
(©) 3.7 N/mm? (D) 2.5 N/mm?
(B) 3raRd e
&% WA23
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126.

127.

128.

129.

130.

For measuring a horizontal angle between two
lines with better accuracy than that given by the
vernier, the method commonly used is :

(A)
(C) Double-sighting

Repetition (B) Double-centering

(D) Reiteration

(E) Question not attempted

Aggregate Crushing Value Test is performed on
aggregate :

(A) Passing 12.5 mm and retained on 10.00 mm
(B) Passing 20.00 mm and retained on 10.00 mm
Passing 10.00 mm and retained on 2.36 mm
Passing 20.00 mm and retained on 12.5 mm
(E) Question not attempted

Who among the following acts as ex-officio

Chancellor of State universities in state ?

(A) Governor

(©)

(E) Question not attempted

(B) President

Education Minister (D) Chief Minister

Tordi Sagar Dam has been built on which one out
of the following rivers ?

(A) Sohadra (B)
(©) (D)

(E) Question not attempted

Kothari

Manali Parbati

The maximum shear stress (T .,,,) for M30 grade
of concrete is :

(A) 3.5N/mm? (B)
© (D)

(E) Question not attempted

3.1 N/mm?

3.7 N/mm? 2.5 N/mm?



18l 2 # fqu a0 Qurl (FEI-1 # T T0) H g6~
(-2 ¥ fau wv) ¥ gafad & qoun feg
Toepedi # o WEr S T
(S ; Udlept & 370 T 3 E)

-1 T A ER) -2 (TPR)
(a) iL(l—hj () & e
R
(b) LW (i) ot Hetrer
2lp)

(€) +a(T—T,)L (iti) QTOATT G
(d) _ (P-P)L (iv) 3T9d w9 ad
T AE HTerT

Taeq

(A)  (a)-(i), (b)~(iv), (0)-(ii), (d)-(i)
(B)  (a)-(iv), (b)-(i), (0)-(ii), (d)-(iii)
©  (@-(), (b)-(iv), (c)-(ii), (d)-(iii)
(D)  (a)-(iv), (b)-(i), (0)-(ii), (d)-(ii)
(B) 3rgaRd e

132. wra & 69 TS # R O &7 &) "9
e & 2
T T a1 faseat # ¥ W SUGE 3% 94|
(A) TR (B) #ew URIT
C) TER (D) IR YT

AR 99

133. 18 UAT FT T T, ‘@’ U & [a%6T T F
TR | AfE 20% ATH Z3W, A ‘@’ FT A 2
(A) 16 (B) 15
© 10 D) 12
(B) 3raRd e

134, gsIqifH o WX T HI IETEH HI FaT JAT 8 :
(A) i (B) feeteefir
(C) difem (D) wATRT
(B) 3raRd e

& WA23 31

131.

132.

133.

134.

Match the corrections in tape (given in list-1) with
the type (given in list-2) and select the correct
answer from the options provided :

(Note : Symbols have their usual meanings.)

List-1 (Corrections in List-2 (Type)

Tape)
(a) +if1- h (i) sagcorrection
afi-)
(b) L (W) (ii) pull correction
57
() #a(T;—T;)L (iii) temperature
correction
(d) (Pf—Ps)L (iv) mean sea level
+ AE correction
Options :
(A)  (a)-(0), (b)-(iv), (c)-(iii), (d)-(ii)
(B)  (a)-(iv), (b)-(), (c)-(ii), (d)-(iii)
©  (@)-(), (b)-(iv), (c)-(ii), (d)-(iii)
(D)  (a)-(iv), (b)-(i), (c)-(iid), (d)-(ii)
(E) Question not attempted

Which state of India has the highest solar
irradiance level ?

Choose the most appropriate answer from the
options given below.

(A) Rajasthan (B) Madhya Pradesh
(C) Bihar (D) Uttar Pradesh
(E) Question not attempted

The cost price of 18 pens is equal to the selling
price of ‘a’ pens. If the profit is 20%, then the
value of ‘a’ is :

(A) 16 (B) 15
(© 10 (D) 12
(E) Question not attempted
Dislodgement of plaster work from the
background is termed as :
(A) Crazing (B) Blistering
(C) Peeling (D) Flaking
(E) Question not attempted
P.T.O.



135,  Soiifrafar gigm # wdhek afaer &1 3w e
¥ foru fopar ST
(A) UH gH Giaar  (B)  HIOT AGAT
(©) & wu (D) TH ga Ei=T
(B) SraRa ued
136. et Hg F IATS Mg HISAl BT TRICIT FT 8 2
(A)  .dwg (B) .cad
(B) 3raRd e
137.  HAA FAHOT & [T BITHT BT & qE & ?
(A) gt F §AE W TH FAMSH Y@ Bl
T ®9 ¥ e 7T STAT 2
(B) CTTBTT SBIOT I FHIS HIOT AT ST &
(© =% &7 & [T FEHAT HT AW T&A I
i
(D) THBT TN JULTHA Bic &7 & T@T fwar
ST 2
(B) 3raRd e
138. UT H T & dcT BT IUTNT T YHR THIAT ST
g
(A) FE T
(B) amed
(C) FF MR
(D) 9dqeT I T
(B) 3raRd e
139. TS g WHITT @7 [H9F 3iST g7 AT FAE I=T
AT YE@T 2, 98 Ft B
(A) Tt (B) T
(©) st (D) feer
(B) 3raRd e
. 0.48+0.12+0.04%25
140. TA B ; 5005
(A) 1000 (B) 1050
(©) 1100 (D) 900
(B) 3raRd e
& WA23
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135.

136.

137.

138.

139.

140.

Circular Vernier is used in engineering drawing
to:

(A) Draw acurve (B)
© (D)
(E) Question not attempted

Measure angle

Measure distance Draw a circle

What is the extension of files created in Auto
Cad?

(A) (B) .cad

(C) xis (D)
(E) Question not attempted

.dwg
.bmp

Which statement is not correct for
surveying ?
(A) A curved line on the surface of the earth is

considered as mathematically straight.

plane

(B) The spherical angles are considered as plane
angles.

The standard of accuracy is very high for
large areas.

It is used for a relatively small area.

(E) Question not attempted

In paints, linseed oil is used as :

Z

A drier
A vehicle

A water-proofing base

=

S

A thinner

~_~ N~~~
0
~

=

Question not attempted

A closed contour line with two or more higher
contours inside it will represent a :

(A) Hill (B) Cave
(C) Well (D)

(E) Question not attempted

Depression

0.48+0.12+0.04x25

Simplify :

Py 0.005

(A) 1000 (B) 1050
(© 1100 (D) 900

(E) Question not attempted



141. ToHfarEd # ¥ S A G eHaT 0 Gt H
ToTT SUgE @l & ?
(A) Class III (B) Class IV
(©) Class VI (D) Class I
(B) 31 aRd e

142.  =fg d@@ART 4, 5, K, (K-2) W (2K-3) &
THATS SEAE 4 § TE K T WPl S g,
10, 6, 8, (K+4), (K+2) 3 K T #F A
HITTI
(A) 8 (B) 85
© 92 (D) 7
(B) 3raRd e

143.  Trfafad #§ & S AgARET & ST B 3R
TEE 2
(A)  waifers (B) <9TER
(C) IwT-aedsga (D) HHH
(B) 31 aRd e

144. T=fie #, IAPT IS &1 9aT ELL
(Bar) ® WStra giar 2|
(A) TS (Cell) (B) Tag¥r (Width)
(C) =H (Name) (D) 3ifeifthet (Autofill)
(B) 3raRd e

145. UTH I@MA 0t HI UIHIaS A9 BN AT 32%
2| B! RSH HIAT 3T ael AT HHM: 27%
3T 60% Z| FHET PT TAAT Tohi 2
(A)  +0.15 (B) -0.08
(€ -0.125 (D) +1.04
(B) 3raRd e

146. FITT H qA Y F FrAlREd # F HA9 A
QmTiHer ¥ 2
(a)  iferst ot
(b) FeAfeR g
(c)  &iferst o
(d) TEATER Hor
f&T 77 fadedi # ¥ Q& I T ;
(A) (b)3W(c) (B) (a),(b),(c) 3T (d)
© (a)3f=(c) (D) (a) 3 (b)
(B) 3raRd e

& wA23

141.

142.

143.

144.

145.

146.

33

Which of the following land capability classes is
not suitable for cultivation ?

(A) ClassIII (B)
(C©) Class VI (D)
(E) Question not attempted

Class IV
Class I

If the numbers 4, 5, K, (K—2) and (2K-3) have a
unique mode 4, where K is a natural number, then
find the mean of 10, 6, 8, (K+4), (K+2) and K.

(A) 8 (B) 85
© 92 (D) 7
(E) Question not attempted

Which of the following is not a bee-hive product ?

(A)
(©)

(E) Question not attempted

Propolis (B)

Alpha-lactalbumin (D) Beewax

Honey

In a spreadsheet, the address of the active cell is

displayed in the bar.

(A) Cell (B) Width
(C©) Name (D) Autofill
(E) Question not attempted

The natural moisture content of an excavated soil
is 32%. Its plastic limit and liquid limit are 27%
and 60% respectively. The liquidity index of the
soil is :

(A) +0.15 (B)
(€) -0.125 (D)
(E) Question not attempted

—0.08
+1.04

Surveying basically consists of which of the
following measurements ?

(@) Horizontal distances

(b)  Vertical distances

()  Horizontal angle

(d)  Vertical angle

Choose the correct answer from the options
provided :

(A)  (b)and (c) (B) (a), (b), (c) and (d)
(©) (a)and (c) (D) (a) and (b)
(E) Question not attempted

P.T.O.



147 sifqw &g 3w offdde 'END' & 9 T
AT ST &
(A) srer @l (B) ®ter g
(C) BieT daq (D) ®fer s
(B) 31 aRd e

148, ffetiaa # & 6w @ aaTd & IR-geifem
T ST & & | (P (AT ST FebelT & 2
(A) S5 ad (B) HTT TR
© umt (D) AT e
(E) TaRa ued

149.  fr=iafaa & ¥ e sfwdim @9 &t afwat &0
SUIRT AT 3T TSt & FATST b [T AGH 3TRrh
fepa ST & 2
T fou o fopeat # ¥ EW SUGE S I |
(A) Fr=T (B) gt
(C)  FYter (D) =7
(B) TaRa ueA

150. = & 9 {69 UPR B TS B T 9T QST
T2
(A) w7 TS (B) 4T TS
(C) TTEATHS F=T (D) i TS
(B) STARa ueA

BBL 3 goyw 3R 4 @gs fFAT &9 & 20 59 7 =
Td ¥l afy 13 9o 3T 24 ofgd IO B &
4 137 % FX THA &, A 10 TBW 3T 5 dAgH 34T
FTH Bt [ha fed 7 T Fhd & 2
(A) 6 B) 9
© 10 D) 8
(B) 3raRd e

& wA23 34

147.

148.

149.

150.

151.

The end point osnap shortcut ‘END’ is indicated
bya:

(A) Small square Small circle

(B)

(C) Small pentagon (D) Small triangle

(E)

Question not attempted

Which of the following fluids can be classified as a
non-Newtonian fluid ?

(A) Diesel oil
©)

(E)

Human blood

(B)

Water (D) Kerosene oil

Question not attempted

The leaves of which of the following medicinal
plant is most commonly used to treat cough and
cold ?

Choose the most appropriate answer from the
options given below.

(A) Marigold
©)
(E)

Tulsi

(B)
Sarpagandha (D) Giant calotrope

Question not attempted

Which of the following type of plan is the plan at
the roof level ?

(A) Floor plan
©
(E)

(B)
(D)

Terrace plan
Structural plan Foundation plan

Question not attempted

3 men and 4 boys can do a work in 20 days. If
13 men and 24 boys can do the same work in
4 days, then in how many days can 10 men and
5 boys do the same work ?

(A) 6 ®) 9
(C) 10

(E)

(D) 8

Question not attempted



152.  foq wHig #7 MicHe &
(A) TR (B) TI
© X D) T
(B) 3raRd e
153. e S W fHeq od N ge=i & v fqaeor
HRBT BT TNT ZHAT EAT & :
(A) TH (B) N
© N-1 (D) =
(B) 31 aRd e
154 1500 #feX T AT TH IR BT AW A
HIAT, S qET b AHH H G BT
| HieT/dhs & 3T 9901 % HRT gS AT § HieT
2
(f=0.01 )
(A) 0.600 FeX (B) 0.200 #eX
(©) 0.128 HexX (D) 0.382 HieX
(B) 3raRd e
155.  cafar = = § 9 P9 @ fafr gwar %
ITAT F HROT B AT A BT FATT BT
g7
(A) 9T g 3 3| gre &I T P T
HIH AT
(B) =% walcH
(C) WerE et
(D) S e
(B) 3raRd e
156.  feera A @t grar A= F faw fAtaliead 7 9
opT gpTg BT IUTNT TpaT STTaT 2 2
(A) W& TFEER-HST (mAh)
(B) diee (V)
© S
(D) @i (W)
(B) 3TaRa ued
&% WA23 35

152.

153.

154.

155.

156.

The shortcut for trim command is :

(A) TR (B) TI
© X D) T
(E) Question not attempted

Sum of the distribution factors for N members
meeting at a joint is always :

(A) One (B) N
(© N-1 (D) Zero
(E) Question not attempted

Find the diameter of a pipe of length 1500 m when
the velocity of water through the pipe is 1 m/s
and head loss due to friction is 8 m.

(Take the value of ‘" as 0.01)

(A) 0.600 m (B) 0.200 m
(©) 0128 m (D) 0.382m
(E) Question not attempted

Which of the following method of levelling
eliminates the error due to curvature and
refraction ?

(A) Levelling by equalizing the distances of back
sight and foresight

=

Check levelling

e

Precise levelling

xS

Fly levelling

—_~ o~ o~ o~

=

Question not attempted

Which of the following units is used to measure
the capacity of an electric cell ?

(A) mili Ampere-hour (mAh)
(B) Volt (V)

(©) Joule (J)

(D) Watt (W)

(E)

Question not attempted

P.T.O.



157. 7 % gemdar s (E), I TO0E (K) AT
qigdT A (n) F S G9g @ bR feEn
TR
(A) E=3K(1+2p) (B) E=3K(1-p)

(© E=3K(1+p) (D) E=3K(1-2p)
(B) 3raRa ued

158. 1T oo T ST -S| 25 | 50 T
F gy B W Efatad § ¥ Si9 91 HaE
IR & Z3 AT 2
(A) =g fepurm srigie
(B)  Se=TOT RRETH SrEie
(C) W TpAT NG
(D) e fpeTe Sreie
(B) 3raRd e

159.  wEsfic # TFdt A Fe Bl Bl Bl AEHe
ot 7
(A) Ctrl+X (B) Ctrl+N
(©) Ctl+S (D) cul+C
(B) 3rgaRd e

160. THA FA-AHET FRT TH Wl H WA Bl
FUa FA F 0 masTs w9, e Sd-
MRt # A " §WHE g ¥ fau
TRl
(A) 2.0 (B) 25
© 4.0 D) 15
(B) 3raRd e

161. ggq TETEA BT [T IARA TH TN T
TepaT STTaT B
(STEt V uae i & 3i D eXarge %1 = §)
(A) P“% (B) PoVD2
(C) PxV3D? (D) P«xV3D
(B) 3raRd e

% WA23 36

157.

158.

159.

160.

161.

The relationship between Young’'s modulus of
elasticity (E), bulk modulus (K) and Poisson’s
ratio (p) is given by :
(A) E=3K(1+2p)
©
(E)

(B)
(D)

E=3K (1-p)
E=3K (1+p) E=3K (1-2p)

Question not attempted

Which of the following peasant movements was
started when Raja Kalyan Singh increased the
land revenue by 25 to 50 percent ?

(A) Barad Peasant Movement
B) Neemuchana Peasant Movement
C) Begoon Peasant Movement

D) Sikar Peasant Movement

(
(
(
(E) Question not attempted

The shortcut key to cut the content of a cell in a
spread sheet is :

(A) Ctrl+X
©
(E)

(B) Ctrl+N

Ctrl+S (D) Ctrl+C

Question not attempted

The time required to consolidate a clay layer with
single drainage is times that of double
drainage for the same degree of compaction.

2.0 2.5

(B)

4.0 (D) 15

(E)

Question not attempted

Power output of wind turbine is expressed as :

(Where V is wind speed and D is diameter of
turbine )

A) P« ! B) P«xVD2
(A) V2D (B)
(C) Po«V3D2 (D) P«V3D

(E)

Question not attempted



162, fft o few U it % wERw gedl @
rferspe TEAT T Y 2
(A) 1 B) 3
(C) 3ma D) 6
(B) ITanRa wed
163. i%r%@rrqﬁma%nﬁt—ra:ﬁﬁwa%%ﬁaﬁ
(A & % I 95 faeaiia &= ang %)
777777 A
(A) 6 B 7
) 8 D) 5
(B) 3raRd e
164.  qremifaen & fao f=fafaa @1 soaT s
ERILASICES
(A) gttt @bt (B)  Reefiwr wha
(C) Thet 3% FEH (D) TA-ATSH Tbed
(B) 3raRd e
165. g disTiHieY =g AaT B
(A) I T
(B) 9ol &
(©) g I
(D) THSAT T
(B) 3TaRa ued
% WA23 37

162.

163.

164.

165.

What is the maximum number of auxiliary views
of any given object ?

(A) 1 (B) 3
(©) Infinite (D) 6
(E) Question not attempted

The degree of kinematic indeterminacy of the
frame shown below is :

(Assume all the members are extensible)

777777
(A) 6 ®B) 7
) 8 (D) 5

(E)

Question not attempted

Drawings of microchips are drawn using :

(A) Enlarging scale (B) Reducing scale
(C) Scale of chords (D) Full size scale
(E) Question not attempted

A piezometer tube measures :
(A)

(B)

Gauge pressure
Absolute pressure
Vacuum pressure
Atmospheric pressure
Question not attempted

P.T.O.



166.  yromer # O oA WTI GHEHIOT ITAT
FHT NIATRBIHIT (PMFME)" TSHT & 3faerd
"T ST - TH 3@ (ODOP)" eel H "FiR”
e *1 Afaraa e Soe & f@v w3fba
BT T T ?
(A)  weft
(B) HI-3MeTRT 3T
(©) &g
(D) #&Est
(B) SraRa ued

167.  x 1 rftrpaw AT T & Twsh fqU 6 3wt anet
TAT 523K32, 8 W faamT & 2
(A) 7 (B) 8
© 9 D) o
(B) T ARa w9

168. gfs X @1 15%=Y &1 25%= Z BT 35%, d
A XY Z E:
(A) 35:15:21 (B) 35:21:15
(© 35:25:15 (D) 15:21:35
(B) 3rgana ued

169. 3 dfex FEt umw R $=30°, c=0,
y=15kN/m3 & IHER St & WErT Idt 2
(U 319 AT 31 9T 8) | SR W) B
afer o (wfa g1 e kN #) %
(A) 22.5kN/m (B) 67.5kN/m
(© 15.0kN/m (D) 45kN/m
(B) Srana ued

170. = R B 3 dR W % F
I1f® gl F T gt & wera fgeor & fav
T ST 2
(A) 15 ®B) 5
O 12 D) 10
(B) 3TaRa ued

&% WA23 38

166.

167.

168.

169.

170.

Under the One District - One Product (ODOP) in
Pradhan Mantri Formalisation of Micro food
processing Enterprises (PMFME) scheme in
Rajasthan, “Nagaur” district was identified for
which of the following product ?

(A)
(B)
©)
(D)
(E)

Fenugreek
Fennel-based products
Garlic

Mehandi

Question not attempted

What is the greatest value of K for which a 6-digit
number 523K32 is divisible by 8 ?

(A) 7 (B) 8
© 9 (D) 0
(E) Question not attempted

If 15% of X=25% of Y=35% of Z, then the ratio
X:Y:Zis:

(A) 35:15:21 (B) 35:21:15
(C) 35:25:15 (D) 15:21:35
(E) Question not attempted

A 3 m high retaining wall supports granular soil
of $=30°, c=0, y=15 kN/m3 (Symbols denote
their usual meaning). Total active force (in kN per
unit width) on the wall is :

(A) 225kN/m (B) 67.5kN/m

(©) 15.0kN/m (D) 45kN/m

(E) Question not attempted

Bench terracing is generally adopted for soil

erosion control for slopes greater than
%.

(A) 15 B) 5

(€ 12 (D) 10

(E) Question not attempted



171.  uhUq, FTeE ¥ Bi< Imy e e & fog
frfetiaa # @ e Afcde Hoit o1 IuanT fpan
ST E ?
(A) Cul+K (B) Ctrl+L
(©) cCul+D (D) cCtrl+C
IART T
172 g&t-1 3R gE-2 & Ham & iR e g
Torepedt # o WEr SR I
-1 -2
(@) degar () =T AaEr &
Tawetar
(b) () o7 2T BN H
EEEESIEIRES
Y &9 9 @i
ST
(©) ggar (i) ToET TS 3= A
T STl BT
ITTOT
(d) ST (iv) I=T q=UAT qrehd
frepea :
(A)  (a)-(1), (b)-(ii), (c)-(iii), (d)-(iv)
(B)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(©)  (a)-(ii), (b)-(), (c)-(iv), (d)-(iii)
(D) (a)-(), (b)-(ii), (c)-(iv), (d)-(iii)
(B) 3raRd e
173. o Ha1 & fau fovme srewen & Y@@ Iors
B =7 doy @1 ST e g feamr s
HebdT &
(A) (1-sin ¢)/(1+sin ¢)
(B) (1+sin ¢)/(1—sin ¢)
(©) (1+sin ¢)/sin ¢
(D) 1-sin ¢
(B) 3raRd e
& WA23 39

171.

172.

173.

In MS Office, which of the following shortcut key
is used to open the font preference window ?

(A) Ctrl+K (B) Ctrl+L
(© Cul+D (D) Ctrl+C
(E) Question not attempted

Match list-1 and list-2, and select the correct
answer from the options provided :

List-1 List-2

(@) Ductility (i) Failure without
warning

(b) Brittleness (i) Drawn
permanently over
great changes of
shape without
rupture

(c) Tenacity (iif) Absorption of
energy at high
stress without
rupture

(d) Toughness (iv) High tensile
strength

Options

(&) (@)-(@), (b)-(ii), ()-(iii), (d)-(iv)

(B)  (a)-(ii), (b)-(iii), (c)-(iv), (d)-(0)

(©  (@)-(iD), (b)-(1), (c)-(iv), (d)-(iif)

(D) (a)-(0), (b)-(ii), (c)-(iv), (d)-(ii)

(E) Question not attempted

Coefficient of earth pressure at rest for granular
soil can be determined using the following
relationship :

(&) (1-sing)/
(B) (1+sind)/ (1—sin d)
(©) @@+sind)/sind

(D) 1-sind

(E) Question not attempted

(1+sin ¢)

P.T.O.



174 g gt fog & T & amade & e @ I
AT N o SR 90 #OE| gEeT R
U (e) 3T TILAT (n) BRI :

(A) e=0.5;n=50% (B) e=0.5;n=100%
(C©) e=1.0;n=50% (D) e=1.0;n=100%
(B) 3rfana e

175.  gmar 4fge Usiey & R W@IEed & 3@ &
foru, Tr=feriaa & & @ 97 faeea TEE 2 2
(A) wEEEx®  (B) @A A
© wrgs M (D) =tHa =
(E) SrIand ued

176. e Yo FF qRATIE @aTS 200 WeX 2| T W
20.00 WX & U H AOT ST B, A @«
200.80 HieT IT$ ST &1 20.00 HieT T B wE
GEIER-E
(A) 18.98 HiX (B) 20.04 FiX
(C) 20.08 Hiex (D) 19.92 #exX
(B) TaRa ueA

177. @ <)’ &1 U% Hiediaw 5 79 i ) 16 g
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174.

175.

176.

177.

178.

A dry soil sample has equal amounts of solids and
voids by volume. Its void ratio (e) and porosity (n)
will be :

(A) e=05,n=50% (B) e=0.5;n=100%

©) (D)

(E)

e=1.0;n=50% e=1.0,n=100%

Question not attempted

For viewing the prepared slides in a Power-Point
presentation, which of the following is not an
option ?

(A)
(©)
(E)

Slide sorter view Inline view

(B)

Slide show view (D) Normal view

Question not attempted

The true length of a line is known to be 200 m.
When this is measured with a tape of 20.00 m, the
length is found to be 200.80 m. The correct length
of the 20.00 m tape is :

(A) 1898 m
©
(E)

(B) 20.04m

20.08 m (D) 19.92m

Question not attempted

A cantilever beam of span ‘I’ is subjected to a
point load ‘P’ at the free end. The bending
moment diagram along the span will be :

(A)

(©)
(E)

cubic parabolic linear

(B)

constant (D) parabolic

Question not attempted

Which of the following losses is not applicable in
pre-tensioning ?

(A)
©)
(E)

Relaxation of steel (B) Shrinkage of creep

Frictional loss (D) Elastic shortening

Question not attempted
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179.

180.

181.

Which of the following statements is not true
about optical fibres ?

(A) Light can easily travel along the length of
the fiber, even if the fibre is bent.

(B) Optical fibres are used for transmitting
audio and video signals through long
distances.

(©) Optical fibres make use of the phenomenon
of total internal reflection.

(D) Optical fibres are fabricated with nylon
fibers.

(E) Question not attempted

Pie chart-1 presents the distribution of 6300
students in schools A, B, C and D in a particular
year. There were a total of 3600 girls in these
schools. Pie chart-2 gives the distribution of girls
in these schools.

Pie Chart- 1 Pie Chart - 2

The total number of boys in schools B and D is
how much more than the total number of boys in
schools A and C?

(A) 92 (B) 100
(C) 84 (D) 98
(E) Question not attempted

The probable maximum flood is :

(A) A flood adopted in the design of all kinds of

spillways
(B)
©

A flood adopted in all hydraulic structures

An extremely large but physically possible
flood in the region

(D) The standard project flood of an extremely

large river

(E)

Question not attempted

P.T.O.
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182.

183.

184.

185.

Phytoplankton — Zooplankton — Fish — Man

Observe the above food chain carefully and
identify the correct category for fish from the
following options.

(A) Primary Consumer

(B)
(©)

Secondary Consumer
Tertiary Consumer

(D)
(E)

Primary producer

Question not attempted

Who among the following sportspersons has
received Major Dhyan Chand Khel Ratna Award
in the year 2024 ?

(A) Deepali Deshpande
B) Praveen Kumar
C) Annu Rani

(
(
(D) Jarmanpreet Singh
(

E) Question not attempted

A doubly reinforced rectangular R.C. beam has
the following sectional parameters :

b=300 mm; overall depth D=450 mm; effective
cover to tension and compression
reinforcement =50 mm and 40 mm, respectively.

The effective depth of the beam shall be taken as :

(A) 400 mm
©
(E)

(B) 360 mm

405 mm (D) 410 mm

Question not attempted

Which of the following regions of Electromagnetic
spectrum is not used in satellite remote sensing ?

(A) X-rays (B)

(C) Microwave region (D)
(E)

Visible region
Infrared region

Question not attempted
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186.

187.

188.

189.

Due to 15% decrease in the price of rice, a person
could buy 2 kg more rice for ¥ 340. The original
price of 1 kg rice was :

(A)
(©)
(E)

T35 (B)
28 (D)

Question not attempted

%30
<40

Ring and ball apparatus is used for which of the
following test of Bitumen ?

(A) Viscosity
(©)
(E)

(B)

(D) Penetration

Softening point
Ductility

Question not attempted

A body is said to be in a stable equilibrium if it
returns to its original position when given a small
displacement. This happens (in a floating body)
when :

(A) Metacentre (M) is lower than centre of
gravity (G)

(B) Metacentre (M) and centre of gravity (G)
coincide

(C©) Metacentre (M) and centre of gravity (G)
keep changing

(D) Metacentre (M) is higher than centre of

gravity (G)

(E)

Question not attempted

Which one of the following expresses the height of
rise or fall of a liquid in a capillary tube ?

(Note : Symbols have their usual meanings.)

(A) ocosa (B) 4ocosa
dwa wd

© wd (D) 4wd
40 cosa o cosa

(E)

Question not attempted

P.T.O.
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190.

191.

192.

193.

Which of the following is not correct for rounded
aggregates ?

(A) They have minimum ratio of surface area to
volume.

(B) They develop good interlocking bond.

(C) They are not suitable for high strength
concrete and pavements.

(D) They are obtained from river or sea-shore.

(E) Question not attempted

As per Lacey’s theory, the silt factor is :

(A) Inversely proportional to average particle

size
(B) Directly proportional to square root of
average particle size
(C) Notrelated to average particle size
(D) Directly proportional to average particle size
(E) Question not attempted

Which one of the following water erosion control
structures is made of stones/boulders, hand-
packed closely in wire-mesh cages ?

(A) Gabion (B) Kutta-crate
(C) Geotextile (D) Spurs
(E) Question not attempted

In limit state method, the balanced section design
of a reinforced concrete beam gives :

(A) Smallest concrete section and minimum area

of steel

(B) Smallest concrete section and maximum area
of steel

(C) Largest concrete section and minimum area
of steel

(D) Largest concrete section and maximum area
of steel

(E) Question not attempted
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194.

195.

196.

Which of the following conditions will be satisfied
by steady irrotational flow ?

(Note : Symbols have their usual meanings.)
ou  Ov

a —+—=0
@ oy Ox
ov Ou
0 -2t
x oy
(C) 6_14 + 6_U =
ox oy

Choose the correct answer from the options
below :

(A) (b)and (c) (B) (a)and (c)
(©) (a), (b) and (c) (D) (a) and (b)
(E) Question not attempted

Which of the following is not a benefit of
watershed management ?

Choose the most appropriate answer from the
options given below.

(A) Maximizes productivity per unit time per
unit of water.

(B) Increases water availability but decreases
cropping intensity.

(C) Promotes utilization of wastelands through
alternative land use system.

(D) Controls floods, soil erosion and sediment
accumulation in rivers and reservoirs.

(E) Question not attempted

Which of the following is not an orifice

coefficient ?

(A) Coefficient of expansion

(B)
(©)

Coefficient of discharge
Coefficient of resistance
(D)

(E)

Coefficient of contraction

Question not attempted

P.T.O.
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197.

198.

199.

200.

In brick masonry, if alternate courses of header
and stretcher are provided, it is referred to as :

(B)
(D) English bond

(A) Flemish bond Stretcher bond

(C) Header bond
(E)

Question not attempted

Intermediate vertical stiffeners are provided in the
plate girders to :

(A) Eliminate local buckling
(B)

C) Lower excessive deflection

Transfer concentrated load

Eliminate web buckling

E) Question not attempted

Reduction in volume of soil primarily due to
squeezing out of water from voids is called :

(A) Plastic flow

(B) Creep

(C) Secondary consolidation
(D) Primary consolidation
(

E) Question not attempted

The major fumigant used for storage of rice is :

(A)
(B)
(©)
(D)
(E)

Methyl bromide gas
Ethylene oxide
Carbon monoxide
Irradiation

Question not attempted

-00o0-
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